=S IREANE(N) | REE() | ’E | L(B) | BT m &

g 288%
SRR 360 |40825| F | 10 | 400 |ER/HL

EZEaRE. £/
KB —(0®) | 2795 | = 2 - |sa x5 EwE

XEGfET80M
BB — ) 80 | 97.48 | s 1 80 |7O09105—

RIS RMEs B, E7/
3012E2A 24| 3985 | TC | 9 | 27 |Faviss—maou—y
3012%=8 24| 4615 | TC_| 9 | 27
3018@=C 24| 4936 | 1C | 11| 33
3028@2A 24| 4292 | T7C | 9 | 27 [Faviss—maou—y
3028H=8 24| 4341 | 1C | 9 | 217
30385E 12 [ 3231 | 1C_| 4 | 12 |mEEGsEum)
30425E 8 1991 | 7C | 4 | 12
30588% 12 | 3225 | F 6 18 [ZRONTIIEELCO
40188 12| 1560 | 1 | 2 | 12
4028%= 12| 2570 | P 4 | 12
40385= 18 | 3485 | 1C | 6 | 18
4042Fm=A 12 | 2t72 | 1C | 4 | 12
40428 21 [ 3345 | 1C | 7 | 21 [Fovrss—mRou—y
40585= 18 | 2569 | 1C | 6 | 18
JavhERL—L | 36 | 8005 | F | 12 | 36 |ovh—EESS—
BEXEE 36 | 8662 | P 6 | 36 |EmavasEmEss
Az —(lo®) | 3200 | =& 4 - |fos EemE KE BROR
A2 —(17.58)| 53.00 | B 8 - | mnm
AIZ3 —(158) | 48.00 | =& 8 - | mmm ke
LMt s—E@E| 30 | 5619 | TC | 10 | 40 |FOUIs9—RRAIU—Y
BEwUs—EME| 30 | 61.02 | TC_| 10 | 40

XM E NI

S=A.F=20-U2J P=PIL.TC=51ILA—Rvhk




